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public abstract class Geoobject2 {

private String color = ""red"’;
private int dim;
private java.util.Date dateCreated;

protected Geoobject2(){
dateCreated = new java.util.Date();

}

protected Geoobject2(String color, int dim){
this.color = color;
this.dim = dim;
dateCreated = new java.util.Date();

}

public String toString(){
return ""color: ** + color + "\ndim: " + dim +
"\ndateCreated: " + dateCreated;
}

public abstract double area();
public abstract double perimeter();
public abstract void printObject();



public class Rectangle extends Geoobject2{
private double width = 1.0;
private double height = 1.0;

public Rectangle(double width, double height){
this.width = width:
this.height = height;

}

public Rectangle(double width, double height, String
color, intdim) {
super(color, dim);
this.width = width;
this.height = height;
}

public double area() {
return (width * height);

}

public double perimeter() {
return 2 * (width + height);

}

public void printObject(){
System.out.printin(toString()+ ""\nwidth: " + width +
"\nheight: " + height);



public class Triangle extends Geoobject2{
private double a = 1;
private double b = 1;
private double ¢ = 1;

public Triangle(double a, double b, double c) {
this.a = a;
this.b = b;
this.c =c;
}
public Triangle(double a, double b, double c, String color,
int dim) {
super(color, dim);
this.a = a;
this.b = b;
this.c =c;

}

public double perimeter() {
return a+b+c;

}

public double area() { // Based on Heron Rule
double p = perimeter()/2;
double ar=p*(p-a)*(p-b)*(p-c);
return Math.sqrt(ar);

}

public void printObject(){
System.out.printin(toString()+ ""\na: " +a+ "\nb: " + b
+"\nc: " + ¢);



import java.util.Scanner;
public class Geoobject {
public static void main(String[] args) {
Geoobject2[] object = new Geoobject2 [20];
Scanner input = new Scanner (System.in);
for (inti=0;1<10; i++){
String color = input.next();
int dim = input.nextint();
double width = input.nextDouble();
double height = input.nextDouble();
object[i] = new Rectangle(width, height, color, dim);
}
for (inti=10;i<20; i++){
String color = input.next();
int dim = input.nextint();
double a = input.nextDouble();
double b = input.nextDouble();
double ¢ = input.nextDouble();
object[i] = new Triangle(a, b, c, color, dim);
}
for (inti=0;1<20;i++){
object[i].printObject();
}
for (inti=0;1<10; i++){
If (equal (object[i], object[i+10]))
System.out.printin("*The area of Rectangle
['"+i+'"] == The area of Triangle
["+(1+10)+"]");
}
}

public static boolean equal(Geoobject2 obl, Geoobject2 ob2) {
return (obl.area() == ob2.area());

}
}



